
Pergola Assembly Instructions 
Manual

3x3m 3x4m

IMPORTANT NOTE: IF YOU BUY THE LED LIGHTS, PLEASE CHECK THE MANAUL 
FOR LED LIGHTS BEFORE ASSEMBLY, TO AVOID REASSEMBLY.



13

3029242328252619212220152

A3127EB514106GD7131112FC 98



4

3x3=23
3x4=31

1

2

1

1

1

1

1

1

M 13mm

4mm

5mm

 N

 O

PERGOLA PARTS LIST

Drawing QTYPart
No.

A

B

C

E

F

G

H

J

K

L

D

Use tools:
Silicone Gun (not provided)



41

4

41

2

3

5

6

7

8

9

10

11

12

13

14

15

19

21

22

20

3x3=23
3x4=31

3x3=46
3x4=62

3x3=138
3x4=186

1

1

M8x20

M8x33

M8

M8

ST3.5x13

M6x10

PERGOLA PARTS LIST

Drawing QTYPart
No.



23

24

25

26

27

28

29

6

1

2

1

1

1

1

30

31 M4x25

M4

M6x50

M6x25

PERGOLA PARTS LIST

Drawing QTYPart
No.



4

23 24

25 20 21 22

19

24

23

25

B

26

27

28

2629 30 31 22 20 21 19

27 28 29

30 31
M4x25

M6x50
QTY:6PCS QTY:1PCS

QTY:1PCSQTY:1PCS

QTY:1PCS

QTY:1PCS

QTY:1PCS QTY:1PCS

QTY:1PCS

QTY:2PCS

QTY:1PCS

QTY:1PCS

QTY:1PCS

M6x10

M6x25 M4

Pergola
Assembly instructions



5

A

5

1

5 1

STEP1

A

M8x20
QTY:8PCS QTY:4PCS

Pergola
Assembly instructions



5

STEP1

6

A

5

5
5

A

A

C

C

M8x20
QTY:4PCS

Pergola
Assembly instructions



5

5

5

5

A

A

B

7

M8x20
QTY:4PCS

Pergola
Assembly instructions



5

STEP1

STEP2

5

5

5

A

A

A

B

8

D

D

C

A

M8x20
QTY:8PCS

Pergola
Assembly instructions



A

A

B

9

D

D

C

A

A

Pergola
Assembly instructions

Use the silicone glue on the joints of the beams
and columns.

Use tools:
Silicone Gun
(not provided)



6

714

14

1010

88

9

9

STEP1

STEP2

G
G

G

10

QTY: 
         3X4=31PCS

ST3.5x13

Pergola
Assembly instructions

6 14

1098

7

Short side

Long side

3X3=23PCS QTY: 
         3X4=186PCS

3X3=138PCS

QTY: 
         3X4=62PCS

3X3=46PCS



E

F

11

15

13
5

11

12

5 QTY:1PCS11 12 13 15
M8x20 M8x33 M8 M8

QTY:1PCS

Pergola
Assembly instructions

QTY: 
         3X4=62PCS

3X3=46PCS



12

D

D

B

C

A

A

A

A

5 5
2 2

STEP1 STEP2
AA-1

QTY:4PCS QTY:16PCS2 5
M8x20

Pergola
Assembly instructions



QTY:1PCS

13

3

3

Pergola
Assembly instructions




